
 

 



 

2 
 

− 

− 

− 

− 

− 

− 

− 

− 

− 



 

3 
 



 

4 
 



 

5 
 



 

6 
 

 



 

7 
 



 

8 
 



 

9 
 



 

10 
 

 

• 

• 

• 

• 

• 

 



 

11 
 



 

12 
 

 



 

13 
 

 

 



 

14 
 



 

15 
 

1

.



 

16 
 

 



 

17 
 

 

 



 

18 
 

 

 



 

19 
 



 

20 
 



 

21 
 



 

22 
 



 

23 
 

 



 

24 
 



 

25 
 



 

26 
 

A B 

D C 



 

27 
 

 



 

28 
 



 

29 
 



 

30 
 



 

31 
 



 

32 
 

𝑝𝑖 =
𝑒𝑏0+𝑏1𝑋𝑖

1 + 𝑒𝑏0+𝑏1𝑋𝑖

 



 

33 
 

 



 

34 
 

 



 

35 
 



 

36 
 

__________________________________________________________________

________________________________________________________________

__________________________________________________ 

____________________________________________________________________ 

 

         

                      

 ___                  ___

                   ___________________________

                 ___   _ _  

           

 _______________   _________________   

      ___________________________________________________

                          

__      ____________________    _________________

            ____        ___        ____

     ____  

               ______________________________

                  

 ________________________  _______________________   ________

               

   _______   _____    _________    _______

       

           __________________  __________________

                  



 

37 
 

   _____________________    __________________     ___________

         ___________________________________________________

                

 ________   _________   ___________   __________  

                 

 ___________   ________   ___________   _____________  ______

                       

________________________________________________________________________ 

           

                 

____________________________________________________ 

                   

                    

                

              

                     

___________________________________________________________________________________________

______________________________________________________________

           

         ________________________________________________

              ______________________________________________

                 _________________________________________

                      

            

         

    

       _____________________________________________ ______



 

38 
 

         ___   ___   

       ___   ___  

           _______________________________________________________

                         

 ____                 __________

         ____                __

 ____ 

                     _____________________

                       _____________

             _____   _____       _______________

                     

   ____________    ____________    ___________    ___________ 

    _______________________________________________________________   

             

   ___________    __________    ___________    _____

                      ? _____ 

________________________________________________________________________________ 

 _____________________________________________________________________________

 

________________________________________________________________________________ 

________________________________________________________________________________ 

___________________________________________________________________________________________

_____________________________________________________________________ 

______________________________________________________________________

____________________________________________________________________

________________________________________________________________________



 

39 
 



 

 

_________ _________

___________

________

__

___

_______ ___ ____



 

41 
 



 

 


